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X710 is similar to "X in three ways etc.

OVERVIEW

Numbers in w7 w5 (as well as words in general) may be masculine or
feminine, depending on the gender of the word(s) they are defining.
Generally words ending with a 7' are 721, One exception is the numbers
from three to ten where the opposite holds true. The numbers 21 7v27IR WHW
are 901, while "1 ¥29% wWOw are 72p3. Names of places are (usually) 172pa.
mooin is discussing why we are using 7w>w which is 757 /WY instead of wow
which is 723p1 05.

mooIn responds to an apparent difficulty:
= PAPI PYY NPT 2) JY G 991 YWY [AWHY] vP)

The Xin of the xn»12 utilized the masculine form of three [fwhw] as

opposed to W% even though 8110 is a feminine term' -
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for 73y and v} are masculine terms>.

SUMMARY
The reason the Xin uses the masculine WYY is because ) 72v which are
enumerated as part of the nw>w are 1271 NWH.

THINKING IT OVER
Why did nmo0In not include that 95y is 121 W9, and then all three would be
o1 Peh?

' Seemingly Mo question is not understood, for the number 7w>w is defining 2377 not X*110. However
the X3 in 2,2 PW17°p teaches that the word 20°277 is used both in the 7571 and 72p1 formats. Therefore the
gender of the modifier of 2’377 (in our case 7w>w) depends on the content of the statement. Here, since the
subject under discussion is 8110 a name of a country, which is 72p3, it would have been proper to use wow.

2 Of the three items in which X0 is compared to ", two of them (the majority), 72v and v are 1271 .
Therefore when using the term for three, mw5w, the masculine form, was chosen, since a majority of the
three are 157 PWY. See ‘Thinking it over’.

? See TR KW,
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